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QID : 201 -
In the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

o ua & for o Rpeut & @ wy R
(?) & TUEF W A el &I F AT

1 3 2 | 3 4 |1
2 | 36 4 | 81 6 | ?
Options:
1) 121
2) 100
3) 89
4) 113

Correct Answer: 121
Candidate Answer: 121

QID : 202 -
How many triangles are there in the given figure?

& o s 3 et g ¥

Options:
1)5

2)7
3)8

4)9
Correct Answer: 7
Candidate Answer: 7
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A word is represented by only one set of numbers as given in any one of
the alternatives. The sets of numbers given in the alternatives are
represented by two classes of alphabets as shown in the given two
matrices. The columns and rows of Matrix-l are numbered from 0 to 4 and
that of Matrix-l are numbered from 5 to 9. A letter from these matrices can
be represented first by its row and next by its column, for example, ‘D’ can
be represented by 02, 79, etc., and ‘2’ can be represented by 00, 77, etc.
Similarly, you have to identify the set for the word “MAKE”.

Ud QM had Uh HEAT-EAE arT giar ¥, St fy faweut A @
ol T R ) Reedt # Bu srv dwar-weg el & Q) a9t
gRT gofw v ¥, Skar f6 Ru v & syt & 1 3nepl & waEd 3R
ufth &1 TEar 0 @ 4 § AR RN H 5 F 91 3T NPl F TH AR
F Ut 3EH Ufh AR gl F TAFH TEAT gRT gRTAT S Fehdl R
3GIROT & T ‘D' & 02, 79 IfE ERT GRAAT ST HHaT & AdUT ‘2 FHN 00,
77, TG GRT GRAT ST Thar ol 3 aie & U uA A QU deq
“MAKE” & faT dag @ ugaEar

Matrix-I Matrix-Il
Jgg-l Jygg-l
0|1]2(3]| 4 5/6|7(8(9
0/|Z|C[D|G|M S|F|IR|O|TI[W
1|G|A[N|H|V 6 KIM|J[C]S
2|U|O|Y[K]|T 7T|L|IP|Z|Y|D
3|D|G(M[L|R 8|F|E|J[A]|N
4|A|E(U|C|K g|IUIwWlQ|Vv|X

Options:

1) 04, 11, 23, 86

2) 11, 40, 45, 23

3) 43, 88, 12, 41

4) 66, 55, 67, 34

Correct Answer: 04, 11, 23, 86
Candidate Answer: 04, 11, 23, 86

QID : 204 -

From the given answer figures, select the one in
which the question figure is hidden/embedded.

& 7 3R Al F ¥ 3@ T gl & AT
orm & uy apfla BT &
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Options:
1)

2)

A

\l/

3)

4)

Correct Answer:

Candidate Answer:

QID : 205 -
Which answer figure will complete the pattern in the
question figure?

Fa @ IR P Uy P F ulRATT F Q@
HLN?

=

*~N [To]
°
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Options:
)

1

\‘
2
3

¢

O
-
\=

Correct Answer:

S

Candidate Answer:

\e

QID : 206 -
If a mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

afE 1 T H AB YT W I@ AW, a &
IR AHAAT A T i W Hpfa oy gl Hr
e ufafasa gefr?

Download More Paper&)From GovtJobsAlert.In



Download More Papers From GovtJobsAlert.In

Options:
1)

X /4
2)

oX /1
3)
VA
4)

A\ K
Correct Answer:
YaVa'
Candidate Answer:
YaVa'
QID: 207 -

A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

@ & uy gfaal d REmw 3gER Fee @
AZHT DA AT Woled & a1 I FE 391 angfa
s e gam?
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Options:
1)

o oo
000

2)

o
000
oO

o o

Correct Answer:

oo
o o
o o

oo

Candidate Answer:

oo

o o
oo

QID : 208 - By interchanging which two signs the equation will be correct?
4+9+18x11-6=7
o1 <) g Y oo H TRER ggem W gHieur T8t g S

4+9+18x11-6=7
Options:

1) x and +

x dYr +

2) + and x

+ YT x

3) +and -

+dYr -

4)-and +

=Yl +

Correct Answer: + and X
+ YT x

Candidate Answer: [ NOT ANSWERED ]

QID:209-If4#3@1=13and5#2@ 2 = 12, then
6@1#4="?
4 #3@1=13qN5#2@2=127%,d

6@1#4=>
Options:

1) 11

2) 10

3)12

4)8

Correct Answer: 10
Candidate Answer: 10
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QID : 210 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Modest
2. Monkey
3. Modern
4. Modular
5. Monger

Fafafed Weal 31 UG H 3 aTdl HH & IR g |

1. Modest
2. Monkey
3. Modern
4. Modular
5. Monger

Options:
1) 34125
2) 31425
3) 34152

4) 31452
Correct Answer: 31452
Candidate Answer: 31452

QID : 211 - In the following question, select the missing number from the given series.
3,3,6,18,72,?
fafoRad oy & iU U fawedl § 9 g 8i% 1d Sifor|

3,3,6,18,72,?
Options:

1) 320

2) 360

3) 480

4) 540
Correct Answer: 360
Candidate Answer: 360

QID : 212 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
E,H KN Q?
T 3gehd foar mar g, o ¥ U U gw B 3 T fawedt # 9 ag uet fawen gfg, S o d B |

EI Hl KI NI Ql ?
Options:
1)V

2)T
3)U

4)S
Correct Answer: T
Candidate Answer: T

QID : 213 - In the following question, select the odd word from the given alternatives.

frufafed vy & fou Tu fawed # ¥ vy wsg & gfu
Options:
1) Bus
ER|
2) Car
DR
3) Truck
°P
4) Aeroplane
EHE
Correct Answer: Aeroplane
gaTS SRl
Candidate Answer: Aeroplane
GRS

QID : 214 - In the following question, select the odd number pair from the given alternatives.
frafafea uy & faw e el & 9 fovm W g &1 gl
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D6
2)7-14
3)3-5

4)4-8
Correct Answer: 3 -5
Candidate Answer: 3 -5

QID : 215 - In the following question, select the odd letters from the given alternatives.

Froforiad uy & faw e fowedt & @ fawy siert o1 gful
Options:

1) FE

2) NM

3) DC

4) QR
Correct Answer: QR
Candidate Answer: QR

QID : 216 - Identify the diagram that best represents the relationship among the given classes.
Milk, Liquid, Pen

T8 3@ A S i i3 e ol & o & Feiy b1 FE) T B g

gy, I, aH

Options:
1)

©D

2)

3)

©)o

eV,
O

Correct Answer:

©)o

Candidate Answer:

QID : 217 - In the following question, select the related word from the given alternatives.

Summer : Hot : : Winter: ?
fofefad vy & Ry U fawed & 9 Taiftia g &1 gful
Hrera : wlf : : ST 2
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Options:
1) Cold
el

2) Ice
T

3) Cotton
DU
4) Jacket
She

Cprrect Answer: Cold
o8l

Candidate Answer: Cold
CEl

QID : 218 - In the following question, select the related number from the given alternatives.
12:145::16:?

frafafed uy & few e fawed! & ¥ defa I &1 gl

12:145::16:?

Options:
1) 255

2) 257
3) 349

4) 423
Correct Answer: 257
Candidate Answer: 257

QID : 219 - In the following question, select the related letters from the given alternatives.
MARKET : TEKRAM : : SATURN : ?
frafafed uy o fau Tu fawedl # 9 e sieri o gHu

MARKET : TEKRAM : : SATURN : ?

Options:
1) NRUTAS

2) NRTUAS
3) NRUATS

4) NURTAS
Correct Answer: NRUTAS
Candidate Answer: NRUTAS

QID : 220 - In the following question, select the word which cannot be formed using the letters of the given word.
POSSIBILITIES
frafoed fawed # ¥ 98 <sg I S AU T Weg & 3f&RT BT TART b el 911 off gavdT|

POSSIBILITIES

Options:
1) POSTER

2) BOSS
3) BILE

4) SOIL
Correct Answer: POSTER
Candidate Answer: POSTER

QID : 221 - From directional perspective, If North is called West, North-West is called South-West and South-West is called South-East, then what will be North-East
called as?

fo=m & 3MYUR W, S IWR B UT FHET Il B, ITR-UMRH HY TE01-ufdiy F71 e § a1 SfEor-ufdy & <féor-ud wel oI 8, O SIR-Ud & 1 Bl SIRm?
Options:

1) West

iy

2) South-East
Sigor-gd

3) North

IR

4) North-West
IWR-ufgm
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Correct Answer: North-West
IWR-ufd|

Candidate Answer: North-West
JIWR-ufEH

QID : 222 - Pointing to a lady, Vikas said "She is the daughter of the wife of my father". How is the lady related to Vikas?

TS Afe $ 3R Yabd B g, R 3 g, "ag W a1 1t velt &) 3 32" a8 ufewr, e 5 ysR Faiftd 82
Options:

1) Aunt

ES1

2) Sister

CRE

3) Daughter

4) Wife
Telt

Correct Answer: Sister
EREl

Candidate Answer: Sister
CRE

QID : 223 - In the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they seem to
be at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:
I. All short are fat.
II. Some short are fair.

Conclusions:
1. Some fair are fat.
II. Some fat are fair.

H3 AU U vy T 8 HUF SR P a1 3 B W U 8 Feey 3w e €, graifes 39 wm g1d dat ¥ s 8 ot 81 v e ue ok iR Ruffa
P o ou U w1 Q e, 3y MU Byt & SR W gfaad g

PY:
L g4t B A g1
IL. $O B IR I

frreee:

1. $% TR AR §1

II. $3 A IR B

Options:

1) Only conclusion (I) follows.

Haa fse (1) T 21

2) Only conclusion (II) follows.

Pad ey (1) TE B

3) Both conclusion follow.

T & ey T 8

4) Neither conclusion (I) nor conclusion (II) follows.
T Freee (1) 7 € frseef (1) T R

Correct Answer: Both conclusion follow.

T & ey T B

Candidate Answer: Both conclusion follow.
& frd et B

QID : 224 - In a certain code language, "TIMBER" is written as "UKPFJIX". How is "TRAIL" written in that code language?
T fafIy #is 4T, "TIMBER" &1 "UKPFIX" e ST 81 39 Pl 1T # "TRAIL" &1 f5g YR ferar smaem?
Options:

1) VTMEF

2) UTDMQ

3) QTUMD

4) FMUQT
Correct Answer: UTDMQ
Candidate Answer: UTDMQ

QID : 225 - In a certain code language, "TIN" is written as "47" and "TAX" is written as "49". How is "TOPS" written in that code language?

T AR HIs U, "TIN" &) "47" TUT "TAX" B1 "49" a1 Wl &1 39 HIS HIW H "TOPS" & b UbR forar Saem?
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Options:
1) 72

2) 69
3)73

4) 74
Correct Answer: 74
Candidate Answer: 74

QID: 226 - If A = 4% x 73 and B = 72 x 45, then what is the value of A x B?

GG A=4%x 73TUIB = 72 x 46 8, A A x B &1 AF 1 &2
Options:

1) 4l x 75

2) 410 x 718

3)4%0 x 76

4)47 x 7°

Correct Answer: 411 x 7°

Candidate Answer: 411 x 75

QID : 227 - What is the value of 21 + 24 + 27 ...... + 517

21+ 24 + 27 ...... + 51 &I HF 1 &2

Options:
1) 324

2) 396
3) 416

4) 288
Correct Answer: 396
Candidate Answer: 396

QID : 228 - A number M is divisible by 25. If (M + 5)(M + 1) is divided by 25, then what will be the remainder?

TH BT M, 25 I T 3133 (M + 5)(M + 1) B 25 F fJuifora foan S ®, o Qwwer o gem?
Options:

1)5

2)6

3)1

4)3

Correct Answer: 5

Candidate Answer: 5

QID : 229 - Which of the following statement(s) is/are true?

I. (7)450 > (9)300
II. (2)900 > (7)450

fafofad § ¥ & /3 Y 99 8/8?

1. (7)450 > (9)300
II. (2)900 > (7)450
Options:

1) Only I
Had 1
2) Only II

Fad I

3) BothIand II

1 9T 11 &A1

4) Neither I nor II
FAIAE

Correct Answer: Only I
FHad 1

Candidate Answer: [ NOT ANSWERED ]

QID : 230 - What is the value of (4.6 + 3.1)2 — (4.6 — 3.1)2?

(4.6 + 3.1)% = (4.6 — 3.1)2 BT HF AT &?
Options:
1) 54.68
2) 58.86
3) 53.32
4) 57.04

Correct Answer: 57.04
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Candidate Answer: 57.04

QID : 231 - Which of the following number is an odd and prime number?

fafafad & @ o o Jom e fawm aur ey e 82
Options:

1) 61

2)87

3)81

4) 69

Correct Answer: 61

Candidate Answer: 61

QID : 232 - M alone can do a work in 50 days. M is 10% less efficient than N. In how many days can N alone do the same work?

M T BT 1 31l 50 T & W BT 1 M, N J 10% HH PG &1 N 3fber 39 B Bl b foml § qr1 s
Options:

1) 60

2) 45

3) 40

4) 43

Correct Answer: 45

Candidate Answer: 45

QID : 233 - Three taps R, S and T can fill a tank in 90, 100 and 180 minutes respectively. If all the taps are opened together, then in how many minutes will the
tank be filled?

T TAR, S TUTT TH BT B HHE: 90, 100, T 180 S T R THa §1 A Wl 7eht &1 v Ty Wit a1 9, <t <ot fobem! el & R wite
Options:

1) 120

2)37.5

3) 45

4) 90

Correct Answer: 37.5

Candidate Answer: 37.5

QID : 234 - What is the area (in cmz) of the rhombus having side as 20 cm and one of the diagonal as 24 cm?

TF TG et Y= 20 9.8, § quT U sl 24 3. ], o1 dvwea (@2 7 @ 2
Options:
1) 768

2) 384
3) 480

4) 240
Correct Answer: 384
Candidate Answer: 240

QID : 235 - A shopkeeper offers 35% discount on shirts which have been marked 60% above the cost price. Ajay bought the shirt for Rs 728. What was the cost
price (in Rs) of the shirt?

T GHER 50 G ¥ 60% M 3ifdhd Tea areht HHisll W 35% 31 Fe a1 81 3o 7 728 T H HHIe WG| 39 B 31 54 Ted (3 ) 37 U1?
Vs

2) 700

3) 480

4) 680
Correct Answer: 700
Candidate Answer: 700

QID : 236 - The cost price of an article is 90% of the marked price. What is the gain percentage after allowing a discount of 1% on the marked price?
T3t a%g 1 50 Teg ITF i Te BT 90% 71 3Hfhd Ted W 1% P Fe 7 & YT arH Uiawrd o1 82

Options:

1) 12,5

2)20

3) 10

4) 8.33
Correct Answer: 10
Candidate Answer: 10
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QID : 237 - In what ratio a man must mix pulses at Rs 11.10 per kg with Rs 15.20 per kg pulse so as to make a mixture worth Rs 13.20 per kg?

T e by 3rgurd & 11.10 T Ufd .1, areht aret Y 15.20 T Ul 5.3, areht are 3 Y e arfes forsror Y Fiea 13.20 3 wfd .. 8 S
Options:
1)4:3

2) 16 : 27
3)4:7

4)20:21
Correct Answer: 20 : 21
Candidate Answer: 20 : 21

QID : 238 - Rs 1050 is divided among M, N and P in the ratio 3 : 5 : 7 respectively. What is the difference (in Rs) between the shares of M and N?

1050 F HI M, NTUT P B HHT: 3 : 5 : 7 & SUId | SieT a1 g1 M quT N & R & &7 3R (3 #) 32
Options:

1) 140

2) 210

3) 155

4) 315
Correct Answer: 140
Candidate Answer: 140

QID : 239 - Average of 12 numbers is 15. If a number 41 is also included, then what will be the average of these 13 numbers?

12 T3l &7 Sfd 15 §1 I T T 41 1+t 2nfiye &R foran S, < 379 13 TReAnait o1 i o e
Options:
1) 16

2) 18
3) 19

4) 17
Correct Answer: 17
Candidate Answer: 17

QID : 240 - By selling 96 litres of milk, a person's gain is equals to the cost price of 24 litres of milk. What is his gain percent?

96 WieR gU FAPR Ueh G B 24 TeR gU P Hd Hed b SRS 1Y BIdT & | IDT 1Y Tfai=id o1 82
Options:

1) 30

2) 18.18

3)25

4) 16.67

Correct Answer: 25

Candidate Answer: [ NOT ANSWERED ]

QID : 241 - A man sold 280 chairs and had a gain equal to selling price of 35 chairs. What is his profit percentage?

T T 280 FRIA BT SR 35 FRIA F fAcha Jed & TR Y FAICT 31 IHBT ATH U= 37 82
Options:
1)20

2) 14.28
3)15

4) 16.67
Correct Answer: 14.28
Candidate Answer: 14.28

QID : 242 - A man saves 64% of his income in 8 months. If he wants to save the same amount in 4 months, then by how much percentage should he increase his
monthly savings?

T e 8 TEA & 30T 3T BT 64% FaTdl g1 Afe a8 I gt IR 4 T B S aredr €, O I oot Wi s fara ufawd @ sgrt afge?
Options:
1) 80

2) 75
3) 100

4) 95
Correct Answer: 100
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Candidate Answer: [ NOT ANSWERED ]

QID : 243 - A man spends 65% of his income and saves the rest. If his income increases by 25% and spending increases by 20%, then what is the percentage
change in his savings?

%ﬁmﬁm\aﬂqmes% Td TR AT § TUT 1! T4 S| A SBT3 25% T et § quT T it 20% J 7 a1 8, A 3BT F9d | e ufawra ufkad gan
?

Options:

1) 31.67% increase
31.67% Pt g

2) 34.28% increase
34.28% P1 gfG

3) 41.66% decrease
41.66% P HH

4) 29.87% decrease
29.87% H1 HUT

Correct Answer: 34.28% increase

34.28% &I G
Candidate Answer: [ NOT ANSWERED ]

QID : 244 - A train running with a speed of 18 km/hr, crosses an electric pole. If the length of train is 540 metre, then what is the time taken (in seconds) by the
train to cross the pole?

yag?.ﬁ.mﬁﬁﬁwmm,@W%@ﬁaﬁmm%luﬁmaﬁmlé 540 Tiex 8, A YS! T Bl UR B H a1 T (Ypvst
) ?

Options:

1) 110

2) 100

3) 108

4) 105

Correct Answer: 108
Candidate Answer: 108

QID : 245 - A 100 metre long train crosses a 800 metre long bridge. If the speed of train 30 km/hr, then what is the time taken (in seconds) to cross the bridge?

TP 100 Hicx AWt IATE], T 800 Hicx Tl I &1 UR Hal | afe Yawmet &t i 30 fb.wh./ger B, @ 4a R &= & b1 90 ([Hus! H) TIam g2
Opti :

1105

2) 108

3) 118

4) 120

Correct Answer: 108
Candidate Answer: 108

QID : 246 - What is the sum (in Rs) of money which will become Rs 201840 at the rate of 16% per annum at compound interest in two years?

Tg YRITRT (3 H) TR S & IS F 16% B AT TS & W gl SITT TR 201840 = BT STTH?
Options:
1) 160000

2) 150000
3) 180000

4) 200000
Correct Answer: 150000
Candidate Answer: [ NOT ANSWERED ]
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QID: 247 -
The table given below shows the number of mobile

covers sold (in thousands) by 2 companies VAPT and
ABC from year 2011 to 2015.

A= & 1% arfeer & a¥ 2011 &/ 2015 I 2 &ufaar
VAPT @ar ABC gRT 89 a1 HAESel &a’l $r F&ar
(FIRT #) Y gafar T

— Company / &9t
VAPT ABC

2011 50 40
2012 70 60
2013 84 82
2014 105 100
2015 100 96

Companies VAPT and ABC show the same difference in the number of mobile covers sold for which of the following years?

T VAPT GUT ABC §RT o9 TR HiET3d Hav! Bt T 1 SR fuferiRad & 9 fopey af & ware ur
Options:

1) 2012 and 2013

2012 dYUT1 2013

2) 2011 and 2012

2011 YT 2012

3) 2012 and 2014

2012 U7 2014

4) None of these

T A BI Tol

Correct Answer: 2011 and 2012
2011 YT 2012

Candidate Answer: 2011 and 2012
2011 T 2012

QID: 248 -
The table given below shows the number of mobile

covers sold (in thousands) by 2 companies VAPT and
ABC from year 2011 to 2015.

A= & 1% arfeer & a¥ 2011 ¥ 2015 I 2 &ufadr
VAPT gor ABC ERT 8 91 AlETsdl &aRi $Hr g&ar
(F=IRT &) &Y AT 74T B

L car ok Company / &9T
VAPT ABC
2011 50 40
2012 70 60
2013 84 82
2014 105 100
2015 100 96

What is the percentage change in the number of mobile covers sold by company VAPT from year 2011 to year 2013?

T9 2011 ¥ 9¥ 2013 T BT VAPT gRT 94 TR HiETSd ba} & G § ufawrd uiad oar 82

Options:
1) 68

2) 84
3)78

4)34
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Correct Answer: 68
Candidate Answer: 68

QID : 249 -

The table given below shows the number of mobile
covers sold (in thousands) by 2 companies VAPT and
ABC from year 2011 to 2015.

A= & a2 arferer & ¥ 2011 F 2015 g 2 Hufaar
VAPT gar ABC ERT 8% 1 AlESa $a’i Hr g&ar
(FSIRT #) T gmT AT 2

Veai Tk Company / &9t
VAPT ABC

2011 50 40
2012 70 60
2013 84 82
2014 105 100
2015 100 96

What is the average number (in thousands) of mobile covers sold by company VAPT over the 5 given years?

U VAPT gRT 3T 71T 5 auf & 99 T Hiasd $arl &1 3iud e (9IR] ) o1 82
Options:

1) 80

2)81.8

3) 84

4) 92
Correct Answer: 81.8
Candidate Answer: 81.8

QID : 250 -
The table given below shows the number of mobile

covers sold (in thousands) by 2 companies VAPT and
ABC from year 2011 to 2015.

A= & a2 T & € 2011 ¥ 2015 T 2 Hufaar
VAPT @ar ABC 1T 89 91 HAlESd &a’l $Hr FE&ar
(BIRT &) Y far T )

o P Company / 9=t
VAPT ABC

2011 50 40
2012 70 60
2013 84 82
2014 105 100
2015 100 96

What is the percentage change in the number of mobile covers sold by company ABC from year 2012 to year 2015?

¥ 2012 ¥ 9¥ 2015 TP HUT ABC gRT 9 T HieTed HaRl &1 T H Ufa=id gRad- &1 872
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Options:
1) 36

2) 66
3) 60

4) 90
Correct Answer: 60
Candidate Answer: 60

QID : 251 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

The traffic police department has put up huge notice boards at all the (1)/ major junctions of the city warning drivers for refrain from using (2)/ cell phones while
driving or else their licences will be impounded. (3)/ No error (4)

Options:

1)1

2)2

3)3

4)4

Correct Answer: 2

Candidate Answer: 1

QID : 252 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

Contrary to popular perception, the inclusion segment is not a singular impoverished (1)/ undifferentiated mass and it is important to navigate its diversity (2)/ this
identify the right target customers for various programs. (3)/ No error (4)

Options:

1)1

2)2

3)3

4) 4

Correct Answer: 3

Candidate Answer: [ NOT ANSWERED ]

QID : 253 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

Have you
Options:
1) find

2) found
3) finds
4) finded
Correct Answer: found
Candidate Answer: found

your pen?

QID : 254 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

Mr. Yukimura should be as the chairman.
Options:

1) appointed

2) smiled

3) coughed

4) smirked

Correct Answer: appointed
Candidate Answer: smirked

QID : 255 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Prompt

Options:

1) Immediate

2) Late

3) Tardy

4) Slow

Correct Answer: Immediate

Candidate Answer: Immediate

QID : 256 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Quake
Options:
1) Tremble
2) Still

3) Order
4) Tranquil
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Correct Answer: Tremble

Candidate Answer: Tremble

QID : 257 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Rip
Options:
1) Tear
2) Closure
3) Sew

4) Value

Correct Answer: Tear
Candidate Answer: Value

QID : 258 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Dwell
Options:
1) Abide
2) Bunk

3) Hole up
4) Move on

Correct Answer: Move on
Candidate Answer: Move on

QID : 259 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Encroach
Options:

1) Keep away
2) Barge in
3) Crash

4) Horn in

Correct Answer: Keep away
Candidate Answer: Keep away

QID : 260 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Endow
Options:
1) Deprive
2) Award
3) Back
4) Bestow

Correct Answer: Deprive
Candidate Answer: [ NOT ANSWERED ]

QID : 261 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Second to none

Options:

1) As good as or better than all others
2) Creating warm all around

3) To keep a secret of other

4) Most reliable person

Correct Answer: As good as or better than all others
Candidate Answer: As good as or better than all others

QID : 262 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Keep a low profile

Options:

1) To avoid attracting attention to yourself

2) Observe a threshold

3) Take the help of

4) Being very miser

Correct Answer: To avoid attracting attention to yourself
Candidate Answer: To avoid attracting attention to yourself

QID : 263 - Improve the bracketed part of the sentence.

All over the world, it is a niche programme and not a mass programme, where (each off) can get into it.
Options:

1) everybody

2) each one

3) all me

4) No improvement

Correct Answer: everybody
Candidate Answer: everybody
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QID : 264 - Improve the bracketed part of the sentence.

There has been a substantial drop in number of the people (opted) for new telephone connection from the public sector telephone company in the recent months.
Options:

1) optioning

2) opting

3) opt

4) No improvement

Correct Answer: opting

Candidate Answer: No improvement

QID : 265 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

Time when night and day are of equal length.
Options:

1) Equinox

2) Equivocal

3) Equate

4) Equidistant

Correct Answer: Equinox

Candidate Answer: [ NOT ANSWERED ]

QID : 266 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

Fertile spot in desert.
Options:

1) Oasis

2) Tributary

3) Well

4) Peninsula

Correct Answer: Oasis

Candidate Answer: [ NOT ANSWERED ]

QID : 267 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.
Options:

1) Circate

2) Circuit

3) Sircuit

4) Circiut

Correct Answer: Circuit

Candidate Answer: Circuit

QID : 268 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.
Options:

1) Concurence

2) Concurreeme

3) Concurrence

4) Concureence

Correct Answer: Concurrence
Candidate Answer: Concurrence

QID : 269 - Rearrange the parts of the sentence in correct order.

Cleanliness is a greatest

P: responsibility to enhance the standard of life
Q: virtue which should be followed
R: by everyone as a great
Options:

1) QRP

2) RPQ

3) PQR

4) PRQ

Correct Answer: QRP
Candidate Answer: QRP

QID : 270 - Rearrange the parts of the sentence in correct order.

National integration is of

P: the individual level development in this
Q: country and make it a strong country
R: great importance in India to enhance
Options:

1) QRP

2) RPQ

3) PQR

4) PRQ

Correct Answer: RPQ

Candidate Answer: RPQ
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QID : 271 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Changes in the climatic conditions are also having a impact on the water system. It has in the of glaciers and erratic rainfall patterns that in
are leading to environmental imbalance. It is important to take the climate change issue seriously and control human activities that are contributing
this change.

also having a impact
Options:

1) indifferent

2) positive

3) neutral

4) negative

Correct Answer: negative
Candidate Answer: indifferent

QID : 272 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Changes in the climatic conditions are also having a impact on the water system. It has in the of glaciers and erratic rainfall patterns that in
are leading to environmental imbalance. It is important to take the climate change issue seriously and control human activities that are contributing
this change.

It has

Options:

1) affected

2) resulted

3) incorporated

4) decorated

Correct Answer: resulted

Candidate Answer: affected

QID : 273 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Changes in the climatic conditions are also having a impact on the water system. It has in the of glaciers and erratic rainfall patterns that in
are leading to environmental imbalance. It is important to take the climate change issue seriously and control human activities that are contributing
this change.

in the of glaciers
Options:

1) freezing

2) heating

3) melting

4) creating

Correct Answer: melting
Candidate Answer: melting

QID : 274 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Changes in the climatic conditions are also having a impact on the water system. It has in the of glaciers and erratic rainfall patterns that in
are leading to environmental imbalance. It is important to take the climate change issue seriously and control human activities that are contributing
this change.

patterns that in are leading
Options:

1) turn

2) advance

3) rational

4) cult

Correct Answer: turn

Candidate Answer: turn

QID : 275 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Changes in the climatic conditions are also having a impact on the water system. It has in the of glaciers and erratic rainfall patterns that in
are leading to environmental imbalance. It is important to take the climate change issue seriously and control human activities that are contributing
this change.

that are contributing this change.
Options:

1) above

2)on

3) of

4) towards

Correct Answer: towards
Candidate Answer: of
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QID : 276 - Which one of the following is not considered as fixed capital
fofaftea § o I 1o RR IOl & =0 § T 71 S 82

Options:

1) Tools
JUSRT (3AISR)
2) Machines
ERIE]

3) Money
qal

4) Building
SHRA
Correct Answer: Money

qs

Candidate Answer: Money

q=

QID : 277 - 'Disguised unemployment' is prominently found in

e RIGR' THE U 4§ o Uran S §
Options:
1) urban areas

el &

2) semi-urban areas
rd-zedt &

3) rural areas

refior &

4) No option is correct

P13 fabed I8! T8l 8
Correct Answer: rural areas

greftor &
Candidate Answer: [ NOT ANSWERED ]

QID : 278 - Who among the following was the first Chief Election Commissioner of India?

HRd % Uge G g e Ffiad § 3 o 97
Options:

1) K.V.K. Sundaram

.3, Gaxt

2) Sukumar Sen

3) Dr. Nagendra Singh
4) T. Swaminathan
&, WA

Correct Answer: Sukumar Sen
JHIR T
Candidate Answer: Sukumar Sen

IHIR 7
QID : 279 - Who of the following administers oath of the office and secrecy to the President of India?
YRA & PR FI U 3R Mo-hgdr @t oy Fafefad & § o fadmd 2

Options:

1) Vice President

I gufd

2) Prime Minister

TeTEAT

3) Chief Justice of the Supreme Court

FATH T & G AR

4) Lok Sabha Speaker

AU S

Correct Answer: Chief Justice of the Supreme Court
JEaq IR & T iR

Candidate Answer: Chief Justice of the Supreme Court
JATH AT & G AR

QID : 280 - Which one of the following places of Indus Valley Civilization was situated on the bank of Ravi River?

Riy o1t T & FafiRed A & ¥ H1F 91 16 RIF 6 T & fFR W R ar
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Options:

1) Lothal

e

2) Mohenjodaro

3) Chanhudaro

4) Ha}'appa

gl

Correct Answer: Harappa

Gl

Candidate Answer: [ NOT ANSWERED ]

QID : 281 - Tipu Sultan was defeated by the British forces in the Anglo-Mysore war.

Y g ) fofem S = SHA-ARR g | RIfoT femar ol
Options:

1) First

e

2) Second

QI

3) Third

GIRN

4) Fifth

Yiai

Correct Answer: Third

Candidate Answer: Third
GIESKS

QID : 282 - Which one of the following landscapes is not formed by the running water or river?

9 & 9 B 11 T yEa 98d od a1 et 3 Fftfa af gar 82
Options:

1) V-shaped Valley

dl-{THR 1 uret

2) Meander

fogd

3) Pothole
jEL

4) Moraine
Correct Answer: Moraine

Candidate Answer: [ NOT ANSWERED ]

QID : 283 - Which of these is the major source of fresh water in India?

HRA § AT W7l BT T Gid B 91 8?
Options:
1) Ground water

2) Ocean water
SE

3) Tanks

[

4) Water falls
EEREIG]

Correct Answer: Ground water

Yoldd
Candidate Answer: [ NOT ANSWERED ]

QID : 284 - From which part of the organ does the digestion of food in the human body start?

AT IRR T HieH o1 U FafifEd o 9 5w o 4 g= gar g2
Options:
1) Mouth

o)

2) Stomach

STHRY

3) Small Intestine

B o

4) Large Intestine

ESEEIG

Correct Answer: Mouth

fesc)

Candidate Answer: [ NOT ANSWERED ]

Download More Paper&From GovtJobsAlert.In



Download More Papers From GovtJobsAlert.In

QID : 285 - Which one of the following has the capability of cell division in plants?
i & 1 91 e Dl J BT fAHTSH Y & 3@ 82

Options:
1) Parenchyma

2) Scelerenchyma
3) Xylem

EIENL]
4) Apical Meristem
s

Correct Answer: Apical Meristem
i faurers

Candidate Answer: [ NOT ANSWERED ]

QID : 286 - Which one of the following is a true fish?

9 & § $F 91 U aRafa® AB 82
Options:

1) Jellyfish

ScfteRr

2) Starfish

TR

3) Dodfish

SR

4) Silverfish

ISEERER

C9rrect Answer: Dogfish

Candidate Answer: [ NOT ANSWERED ]

QID : 287 - When a car starts suddenly from rest, the people sitting inside the car move backwards. This event is an example of:

T IS BR ORM I aHw 9 USdl 8, ITH I IR WIS 31 NG & 91 8. T8 g 1 3T 2.
Options:

1) Newton's First Law of Motion

e & Yy TS &1 Fam

2) Newton's Second Law of Motion

e & T BT gust g

3) Newton's Third Law of Motion

e & TR BT AR FaH

4) No option is correct

1S fabea Td T R

Correct Answer: Newton's First Law of Motion

e & Yy TS &1y

Candidate Answer: Newton's Second Law of Motion

A & T BT guvl |

QID : 288 - Which of the following wave types is an example of the waves produced by a moving motorboat on the surface of water?

Fafifed P 91 T 99 & Tdg W TE Tad HieRae gRT S a3 &1 T IGeRU 52
Options:

1) Longitudinal only

Faq s

2) Transverse waves only

Pad Sl A

3) Electromagngtig Waves

4) Both Longitudinal and Transversal

Correct Answer: Both Longitudinal and Transversal
e 3R 3t ST
Candidate Answer: [ NOT ANSWERED ]

QID : 289 - Which of the following keys is used in computer to change the lower case letter mode to uppercase?

frofarad & f5a HugeR Soit gRI BT 31ER] &Y 99 31erT § Sga il 82
Options:

1) Alt

i

2) Ctrl

3) Caps Lock

Fw dle

4) Enter

R

Correct Answer: Caps Lock
Fw dle
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Candidate Answer: Caps Lock
Fog s

QID : 290 - Who discovered Proton, one of the fundamental particle of an atom?

TRHTY & T Hferp BT, W, BT Tl fopem 3t e
Options:

1) Chadwick

EISiECa

2) J.J. Thomson
AT
3) Rutherford

4) Newton

Correct Answer: Rutherford

Candidate Answer: J.J. Thomson
S, A

QID : 291 - During summer, water kept in an earthen pot becomes cool because of the phenomenon of

i g § fredt & v & T urh BI UfshaT (UeT) & SR ST 81 Sl 8.
Options:

1) Osmosis

TRTER0T

2) Evaporation

Hra

3) Diffusion

foa=ur

4) Transpiration

Correct Answer: Evaporation
Hiq

Candidate Answer: [ NOT ANSWERED ]

QID : 292 - Which one of the following is not a human made environment?

fufafea & @ a1t aHa FAffa gafeor T8t 82
Options:
1) syvimming pool
kS
2) zoo

3) lake

4) garden
i)

Correct Answer: lake

Candidate Answer: lake

QID : 293 - In which of the following years was the Pradhan Mantri Gram Sadak Yojana (PMGSY) launched?

Faffd & @ g af gur w2 am TS de (fursivgars) s @ TS o
Options:

1) 1988

2) 2000

3) 2002

4) 2004

Correct Answer: 2000

Candidate Answer: [ NOT ANSWERED ]

QID : 294 - Who among the following scientist discovered the Law of Floatation?

Frofeiad Safe! # ¥ fram Saamas & o 31 T 31
Options:

1) Newton

e

2) Thomas Edison

U1 Tfee

3) Archimedes

e

4) John Dalton
Gl Sleed
Correct Answer: Archimedes

Download More Paper&*From GovtJobsAlert.In



Download More Papers From GovtJobsAlert.In

Candidate Answer: Archimedes

QID : 295 - Who is the first Indian woman gymnast to qualify for the Olympics?
e & oy HTeliTs U F= arelt Uset YR Afgern fmRe HH 82

Options:
1) Karnam Malleswari

2) P.T. Usha

4.8, 3w

3) Dipa Karmakar
FHfBR

4) Gita Fogat
fiar whme
Correct Answer: Dipa Karmakar

Candidate Answer: [ NOT ANSWERED ]

QID : 296 - Which of the following folk-dance forms is related to Odisha?

frafafaa & @S- die-Ta Sifswn I wweifid 82
Options:

1) Chhau

ER)

2) Tamasha

GEIN

3) Mallakhamb

T

4) No option is correct.
P13 faded ¥8! 781 3
Correct Answer: Chhau
ER)

Candidate Answer: No option is correct.

FTs fadHed gt Te! 5

QID : 297 - Which of the following is the second highest gallantry award in India?

frfofed & ¥ &9 91 U6 YRd B dRal &1 GO Yated RGR 82

Options:

1) Veer Chakra

IR aw

2) Mahvir Chakra

TRIR dh

3) Ashok Chakra

=MD TH

4) Shaurya Chakra

o a

Correct Answer: Mahvir Chakra
Era

Candidate Answer: [ NOT ANSWERED ]

QID : 298 - Who has written the book "Harry Potter and the Cursed Child"?
" TieR TS & e AISes” S JWd b forgt 82

Options:

1) Patrick Suskind

e s

2) Anne Frank

W e

3) JK Rowling
S e

4) Elena Ferrante
Correc@ Answer: JK Rowling

BERUNI

Candidate Answer: JK Rowling

QID : 299 - Which of the following countries is committed to strengthen bilateral relations with India in the field of Agriculture recently in Jan 2017?

S 2017 # FEfifEd 7 ¥ frw 3w 3 o € & PR b &7 & yRa & Ty fgueh Taitt B Aoigd B & g ufdgar wawd 82
Options:

1) France

B

2) Russia

=4

3) Israel

ESNEN

4) UK

T
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Correct Answer: Israel
Candidate Answer: [ NOT ANSWERED ]

QID : 300 - Which of the following countries does not share the land boundary with Myanmar?

fRafafad 3z 7 ¥ F 91 Ue 3 =HR & Ty Y SHAT GI5 6] B 82
Options:

1) Bangladesh

EIESIER]

2) India
HRd

3) Cambodia
Harear

4) Laos
NI

(;orrect Answer: Cambodia

Candidate Answer: Bangladesh
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